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[LEDTELE & (mm) Bify HARE (Bffi/&) BHHEE EAD
1 |BEERRA— H364 X W515(B3) 108 10H 650 6,500
i 2 |[BEERVYRRE— (;33&42:&"39{3%) 105 1080 1,200 12,000
:L’E 3 | EBEERRRI—(HE) H364 X W515(B3) 106 17 A 3,000 30,000
4 |ERAIAVRRTYA— H240 x W500 58 124 B 13,200% 66,000
1 [ZaVMR(ZAVETRY) H350 x W600 18 124 B 60,000% 60,000
2 | REBIRRTYH—24T) H600 x W2,400 1& 128 120,000§ 120,000
= 3 | REMEIIRGERFERAT) H600 x W1,200 1& 1278 72,000 72,000
;’%L 4 | REERRTYA—524T) H450 x W1,200 1& 1278 72,000§ 72,000
5 5 | KREEIREAEIC4T) H450 x W1,200 1& 1278 72,000% 72,000
6 |[EEVARRTYA— H200 x W600 58 1278 24,000% 120,000
T |®BELT YRR Ty h— st g0 X W80 14 12 60,000 60,000
1 [SvEVT RS 35mUN 18 1278 1,1oo,ooo§ 1,100,000
i 2 IN—=DSVEVTLE 10m LA 18 1278 500,000% 500,000
LL’E 3 |EBERTAILE NZADARIZHES S 18 124 A 360,000§ 360,000
z | 4 |BEAREEART RS NZDRRIZES S 18 12 R 500,000% 500,000
o | 5 s sxmrrorns RN A 5% 17 A 20,000§ 100,000
6 |ERER/NRERIKE 1= 124 B - ‘ -
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